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Ji,:g{'ffl I.i':—i)--f .»'-; ::
i =1 Az

Student: Instructor: Alfredo Alvarez . . > '
Date: Course: math1314newcoreq2019 ﬂment. ﬁnalm1314COCO‘:529’§.'!I_III|£ Z1se
— o ~ Wi F - ~ifeq FOELs
1. Solve the quadratic equation by completing the square. { C\/'*"_) b ok / b~ 57 P
L LoV s (et T +7 OBl
draeas XU+ (2 7t (a0 Xﬂ? oA Atz 7 A"L/;.
_—— :.-x%-' i SORERA &7 UL ST :
The solution set is { . / e X(& o
(Simplify your answer, including any radicals and i as needed. Use integers or fractions for any numbers in the expression. >
Use a comma to separate answers as needed.) p ; { ( 7 / )( - ( — = 7~/ z
)(L‘f'[.)("/' = L iy —~ — fX"_ (:\
Answer: 6, -8 ,(Z—(L P = ‘/5‘ Q X/; -¥ - =
e (i) =¥ 3
- ID: PF.5.15 Q/_{_ P = 9 - - |
e — — —— — == = 7
 eves ottt 7 R G, v)  (s,50 ¢
Flndd;he distance d(P1, le bﬂeeme given points Py m:w X, ) XL T t
an 2 ! o= - =Y . = - s L 1
L/ (O)-()) leA=Ct
P4 =(1,4) — P ] Py
P,=(-35) \gt{/C(_,,fS)L -—(-f(((-*\’) "'.-\:--
< UTEH) F+ 0t B aiad
N T bl L
L L =
d(P1,P2)=| > i
(Simplify your answer. Type an exact answer, using radicals as needed.)
Answer: /17 ‘,/g
L‘/J‘
ID: F.1.21
3. Find the midpoint of the line segment joining the points P, and P.. /yl !Jf/ﬂq. ( - (,{,—f/fl ‘1‘ -H?L
Py =(5, -6); P, = (7, 6) ' ¢/ T
The midpoint of the line segment joining the points P, and P,is | " (f- i (
(Simplify your answer. Type an ordered pair.) / / 7/ (’/
‘ Y ’
Answer: (6,0) ’(I + /(z_ V,‘ -+ U)L | { )( 1 v’/L/
/M L(/, E ( —a o )
/
ID: F.1.39 = e
,/(SHK.*:) _(»G,Jf(o)/ )
, i
<
— ¥~7 = x5 )
C 7 y)
N
)

~ = (5) 0) )
10f43 g(// — F30/2019,.8:09 AM
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4. Solve the equation by factoring.

zz+22—3=0

What is the solution set?

:{5 2} (Use a comma to separate answers as needed.)
L
R v i B
Answer: -3, 1

@-D@+ v~ O

ID: F.2.2 E—(=o o4& Ak
&E—( ¢ ( z U f O//z- Z,.,ry,.:}‘fu J
=Tl R

TS Qu-dpte Fomde
FARN R
=\, bt L C==

J
F< -brU bt
A |
2 - (VIUGH 416D
‘ Z (1)
2. —taygziE
L
éz —& < /6
i
"L,.
&~ L=y
£ =T 9 - —(-¢
G
s

\_/x//r o == 713012019, 8:09 AM
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For the equation X2+ y2 = 8x-6y-11=0, do the following.

(a) Find the center (h,k) and radius r of the circle.
(b) Graph the circle.
(c) Find the intercepts, if any.

(a) The center is
(Type an ordered pair.)

The radiusisr=|

(b) Use the graphing tool to graph the circle.

(c) Find the intercepts, if any. Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The intercept(s) is/are
(Type an ordered pair. Use a comma to
separate answers as needed. Type exact
answers for each coordinate, using
radicals as needed.) L
1 ~f ( 5

() B. Thereis no |ntercept)(
Answers (4,3) {( - ’)})(—(/ (
6 X —8x —+ (v —f

(/ ~() (- “/w%“y i Cf)

LU 2
& t5
;\’L‘*{’w—fj —-éj—’” |
- = (LL-ontr (At

< “"f‘(/“(_){

https://xlitemprod.pearsoncmg.com/api/v1/print/math

-3

—73 .\( )

_.L‘/

2>’(J

-10-

4oyt
'.. 7‘(’ _,G.y'r-_(__ﬁ}l
2._ 0 7 3

| =v

/ | /6=

= 36

(/*ff’ = iy
Qmu - (%,3) __‘fj~;.

<7‘2‘* (iu,s

A. The intercept(s) is/are | (4-343,0),(4+343,0),(0,3-245),(0,3+245) |

re bl

(-3¢

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,

using radicals as needed.)

ID: F.4.27

30f43
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74 < 30) “~(1/9 -1

6. Find the following for the function f(x) = 3x2 +2x - 2. z 3(2}](0) f-(r)— Z(i.l) ~ 1
~ £ O e ~
(a) f0) (b) f(2) (€) f(-2) (d) f(-X) Qz\) «/
(e) —f(x) (0 f(x+3) (g) f(3x) (h) f(x + h) —
(a) f(0)= (Simplify your answer.) /(‘l ) = 3y (1 )—1

(b) f(2) (Simplify ) (2)=3(2Xesr~ L
2)= implify your answer. o . e -

. A= (L5
(c) f(-2) = ' (Simplify your answer.) ({2) - G )

-,
(d) f(-x)= ' (Simplify your answer.) T'/(” )= 3 (—~2) ~+2(-1)— L
T g . - -~ wf "'"{.) -

(e) - ()= (Simplify your answer.) /[{"’ L)< 3 )~ '—{ ¢l
— ferd= 1Tt
M f(x+3)= | (Simplify your answer.) /" -2) [ ﬂ:\
—_— 4 ‘
(g) f(3x) = | | (Simplify your answer.) (%:}(‘))z 3 (-—K) —62,(4) B

x+h= . ﬂ/"b(.) z 3 HYH’C) -t Z(h?{-')—.-._lﬁ
(h) f(x + h) / (Slmfllfy your an.swe ) . /df.’(; e 3)(1 - z X"___Z:-._J{“
Answers -2 ) = —( el L / / = % ()“f%) ¢ =t 2(X13)~ =

14 @-311—513(_—?2} /6(:5/7, 3 (xe3 ) (K3) '-(*2.(4(*"'54)"’ “
° Cur)e 3 xe 3t 3 ?) L)
32 - 2x-2 Hp) =3(x o+ 71742 (Kt3)~ 2
Aigen) = 35t 1Ex +22 1L Ty
3¢ +200+31 P (Ltey) = 3+ oo +3) —
27x° +6x -2 (3 = 3O TLBO L 7
Ay~ (Y ) 32)” &
‘ Ayt ) T [ . ,
ID: 1.1.43 /ﬁ’("h): I(kth) qu@’é?"f/ L .
FHOK ) CRFR AR ) LT AT £ ot -1 7
7. Find the domain of the function. 77"77’"4) “ 3(,‘(;’(‘:;(51»—(9(‘1{(’%7—'—/—{ 1 (& f/hog :
/(;(441) z 3(x "+ Lh—h fr-?/_f ;
L Sttt S et IR gt N\
The domain is! - _1 Eﬁrpe your answer in interval notation. /"9 2 UA:{’( '5 \
Ix—2t > O LA~ [
: . - ‘ +1=
Answer:; [8,00) 3)( (—%"f‘ 4)7/>/ O’(‘(V - L)
ID: 1.1.59 3 = L

F50720T9, 809 Avt—.
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50f43

8. Forthe given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain, ——

fix)=5x+6;g(x)=2x—-9 J/(,,q - .},w - ,//f
(a) Find (F+ g)(x). ( XA Cl~ (C—F) < 6 £
SwltsfC T X — T
(f+g)(x) = (Slmphfyyouranswa?) '{7;%/( \1/L/ (( / /), /

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answ‘ér box to complete your
choice.

A. The domain is {x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) / — S67)
fxl 2 =

() B. The domain is {x| x is any real number}. (§x+6) (2.x—7 ) = \

(b) Find (f - g)(x). s & —EX T E < e |

| (Simplify your answer.) (ﬂ% X (‘: =2 W 9 {d/)&/ /Wf) ’

What is the domain of f - g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(f-a9)x) =

O A. The domain is {x| }

(Use integers or fractions for any numbers in the expression Use a comma to separate L R J "‘«\I
answers as needed.) A ’,}( ‘) &) - A N .
B. - i lad
O The domain is {x| X is any real number}. ( S é ) /Z)(’ ) < Q_ ) S Q&)
(c) Find (f- g)(x). fox =Y A =+ Mix — 5K <
(f+g)(x) =/ (Simplify your answerz 70 )/ L33 X—5 % h’n
What is the domain of f« g? Select the correct choice below and, if nec necessary, fi ary, fill in the answer box to complete your choice.
© A. The domain is {x| }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) -
- : /[;.*J . SuA Z)( 5 =T
B. The domain is {x| x is any real number}. > S 5 A —F 9
) 2x—F
(1 2=
(d) Find (g](x). St 6 -

o “n— 2

(Simplify your answer.) =

9.
A

. . 9
C’l\\ma(\)\/q/ztﬂ X 2

f
What is the domain of — 9 —7? Select the correct choic below and, if necessary, ry, fill in the answer box to complete your choice.

A. The domain is {xl o }
(Use integers or fractions for any numbers in the expresswn Use a comma to separate
answers as needed.)

B. The domainis {x| x is any real number}.

(e) Find (f+g)(2).

£9) ()

= =l 7/30/2019, 8:09 AM

(f+g)2)= | (Type an integer__orzlmphﬁed fraqtlon.) _' _! e 4
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({' -‘}/{;(} 3)('1"/)

f-9)(3)= (Type an mteger ora snmpllf ed fractlon )
2 / ( B = ( T L//
Find (f- g)(4 " e 3
(9) Find (f+ g)(4). <(/ j)(j) Z
fo)4)=___ | (Typean mte rora SImpllﬁed fraction. )

f 1)) = fod E—3 35
(h) Find [g]m. /5 M) clof) —33(%) 5

f ﬁ“/)(v) /um)m --Ufff) e
— (M= (Type an iht ra sumpllfedfra :
e
Answers 7x -3 ﬁ/}) Y) 2.46 y
B. The domain is {x| x is any real number}. /' ’)(,/,C

A=

B. The domain is {x| x is any real number}

| s 1)
10x” - 33x - 54 / }/ )1/’1’(:),%

B. The domain i i | number).
e domain is {x| x is any real number} 2 ¢
5% +6 )(1) z ?’i

2x-9

A. The domain is {x| xae— } (L'[)( ‘) < —-:t/]/__ \\ =

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

11

24

- 26
11

7

ID: 1.1.67

fix + h) f(x)

" Find the difference quotient of f; that is, find ———— h# 0, for the following function. Be sure to simplify.

(@U ~6(¥th) fc)“(ﬂ “GAC) =

f(x)=x° ~ 6x + 6 p
f(x+ h) = f(x) .| K/l\')(,(.,gj - ;(.--(;,lrt’-éﬁ)(' +64—6 ¢
h [ S——
t o
_*)(L\d')(kr—rh ~o X6 h 1 - - .
Answer: 2x+h- 6 )

ID: 1.1.83 _be_hz':c_”

2 b
h

6 of 43 =
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10. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

(a) What are the intercepts?
] ’
(270D (¢,9) (0,20
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) The domainis| [—3, 7 ]|
(Type your answer in interval notation.)

The range is [U 3

(Type your answer in intérval rotation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph@@:ﬁn [;"2/ U—J CZ/ 3]

(Type your answer in interval notation. Use a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

_ﬂ_‘
A. The graph ixdecreasing’on :
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on ;
(Type your answer in interval notation. Use a comma to separate answers as needed.)

C #wB. The graph is not constant on any interval,

(d) The function is (1)

(1 neither odd nor even.
) odd.

7 of 43 7/30/2019, 8:09 AM
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Answers (- 2,0),(2,0),(0,2)
[-3.3]
[0,3]

A. The graph is increasing on [-2,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on | [- 3, — 2],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25

8 of43 7/30/2019, 8:09 AM
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(A
ﬁb SJ W~ wm A

1. For the graph of a function y = f(x) shown to the right, find the absolute maximum Ay
and the absolute minimum, if they exist. Identify any local maxima or local minima. 84

o bssel Ut P '
X

{3.1) :
G 4 8

-

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. Th(@ﬁo@ maximum of y = f(x) isf( ; ) = 7 ) CYL (g/ 7 )

(Type integers or simplified fractions.)

B. There is no absolute maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

o (%, 1D

A. The &bsolute mimmurof y = f(x) is f( 5 )=
(Type integers or simplified fractions.)
B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. Thefocal maximumof y = f(x) is 5 )= 7 . O ( Y/ 7)
(Type integers or simplified fractions.)

B. The local maxima of y = f(x) are f(m_,A@: B ) = % and
f( ) =

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. TheTocal minimumf y = f(x) is f( B )= \ i Ot ( > ) ! )
(Type integers or simplified fractions.)

B. The local minima of y = f(x) are f( o ) = and

f( ) = o

(Use ascending order with respect to x. Type integers or simplified fractions.)
C. There is no local minimum for y = f(x).

Answers A. The absolute maximum of y =f(x) is f( 5 ] = 7
(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f( 3 ) = 1
(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f( 5 ) = 7
(Type integers or simplified fractions.)

A. The local minimum of y = f(x) is f( 3 ) = 1
(Type integers or simplified fractions.)

9 of 43 7/30/2019, 8:09 AM
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ID: 1.3.51

10 of 43 7/30/2019, 8:09 AM
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12.

(a) Use a graphing utility to graph f(x) = x3 - 4x + 4 on the interval [ - 2,2] and approximate any local maxima and local
minima.

(b) Determine where f is increasing and where it is decreasing.

(a) Using a graphing utility, graph the function for —2<x<2 and -4 <y<10. Choose the correct graph, below.

) B. e,

e

i —

= 7,0%)

i '
& g o awesg —f Y
Thefocal maximum-is y ~ . 00 and it occurs at x = -'[ N k! O/(-— ( / / /

(Round to two decimal places.)

| e, 0927/
Thedocal minimum.is ¥ ~ () ,.C{' Z and it occurs at x & I i sz | O/L’ (‘l I 5) O A

(Round to two decimal places.)
o e

™
(b) Where is the graph of@creasingy

e

) [0.92,7.08] AT
() [-2,-1.15] and [0.92,7.08] (\ U 5¢
O Tt K LR L —— o L
fpj" [-2,-1.15]and [1.15,2] \

c ¢ Y hr ,'Q- | RV (..L' V

i

(Choose the answer that miost completely answers llle-qtfé'élﬂ;;.) 2 e %:\'\
F e ' ; ¢/
Where is the graph of.ﬂ"ﬂecreasing? :, G - }( o O )( / f ;
~— / ’ .
) [~2,0.92)and [2,7.08] —_—
=

& [-1.151.15] il
() [-2,-1.15]and [1.15,2] Ly” VA0

() [0.92,7.08] //" )(”’W‘Mt — -9

(Choose the answer that most completely answers the guestion.) )
Kz = 2

Answers

/—\\\_/ i Ain =

A. 3 AL -
L),-- /{bi C X - / L—_;’

7.08 /
-1.15 '
0.92 S D
1.15

[-2,-1.15] and [1.15,2]
[-1.15,1.15]

ID: 1.3.567-GC
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13. The function f is defined as follows.

3+3x ifx<0
f(x) =
X2 if x=0

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function f is ( rx" )
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The intercept(s) is/are (E-' | J O) ( O) J )

(Type an ordered pair. Use a comma to separate answers as needed.)
() B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

(d) The range of the function f s | (—‘ L e Q/i <)

(Type your answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are | (-1,0),(0,0) . A
(Type an ordered pair. Use a comma to separate answers as needed.) uo< j Va }/ l’n‘)

}/ A Ub" >_ S € f el

(= 0c0,00)

I=)ol =0
7 / 2. A Y 4-

ID: 1.4.37 ]
_ 0/{‘@/'\_

> (X < o) Ciriy

5L 0ptn
\7’2,:)( " ()(>0> Clirels

{ e = Ee=— S
12 of 4 T ~7/30/2019, 8:09 AM
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14. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(8) F(x)=f(q) +3 (b) G(x) =f(x + 3) () PO = —1f(x)

1
(d) H(x) =flx + 1) -1 (e) Q(x) = 7f(x) () 90 =f(-x)
3

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below.

(b) Choose the correct graph of G(x) = f(x + 3) below.

O A. O B.

1
(e) Choose the correct graph of Q(x) = gf(x) below.

to

———y

o
A (&R} C. n.

13 of 43 7/30/2019, 8:09 AM
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(g) Choose the correct graph of h(x) = f(2x) below. ——

OA. O B. Oec.

14 of 43 7/30/2019, 8:09 AM
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Answers

ID: 1.5.63

15 0f 43 7/30/2019, 8:09 AM
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15.
(a) Graph f(x) = |x - 6| — 4 using transformations. j\y
(b) Find the area of the region bounded by f and the x-axis 10"
that lies below the x-axis. 8-
6_

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

2_
(b) The area of the region bounded by f and the x-axis that ] §
lies below the x-axis is square units. s e o L A B W 1.0-,-
(Simplify your answer.) . ]
4~
A0

Answers Ay

BN use g aph
16 L~’ (,/\V/ AN \ Ce ( G W C l/

ID: 1.5.81

l6of43 —
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T . _
7 (450« (62)

16. Find the slope of the line joining the points (4,5) and (6,2). (q"‘/k )(

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

Y~ 2 )
O A. The slope is . /772 ( s ) —(: )
(Simplify your answer.) ( 7 ) %t &

() B. The slope is undefined. M Z ST —T
_ “— G —

Answer: A. The slope is - -:' I.(Simplify your answer.)

m= ==
ID:2.1.2

S ——— = — —— o R S
17. Solve the following equation. C’JO)( s ?()df(? Q= —E¥X —+Y2uy +7 U
60x - 900 = — 25x + 4200 6V X =—&gX ¢ 5/00
The solution set is { }. 6();( 25X = 25X+ 5/U0 X
(Simplify your answer.) 75_ )( - f‘/ (/ ¢
Answer: 60 24K 2 w
75 L35

ID: 2.1.4 m \

8. It f(x) =x? - 3, find f( - 3).

f(-3)=| | \

Answer: 6

ID:2.1.5

17 of 43 7/30/2019, 8:09 AM
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19.
(a) Find the zero of the linear function and (b) graph the Ay
function using the zero and y-intercept. ‘2'_
104
g)=2x-6 |
8+
(a) The zero is . 6'4
(Type a whole number.) 4
(b) Use the graphing tool to graph the linear equation. Use ] %
the intercepts when drawing the line. S D e o e S B o o S e o
1240 8 6 4 -2 4 2 4 & 8 10 12
-2
-4}
-
-8
10

Answers 3

ID: 2.1.21

——

e e
- /—\\____,_._F
—
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20.

19 of 43

Suppose that a company has just purchased a new
computer for $2400. The company chooses to depreciate
using the straight-line method for 4 years.

(a) Write a linear function that expresses the book value of
the computer as a function of its age.

V(x) =

(Type your answer in slope-intercept form.)

(b) What is the implied domain of the function found in part
(a)?

(Type your answer in interval notation.)
(c) Use the graphing tool to graph the linear equation.
(d) What is the book value of the computer after 3 years?

$ |
(Round to the nearest dollar as needed.)
(e) When will the computer be worth $12007?

After

$1200.
(Type a whole number.)

year(s) the computer will be worth

(' 0/ Z-Lfﬁ(}) A
3(( Y/

Answers —600x + 2400

Book Value (dollars)

//‘/ o)
= = «/?é /’“1&

https://xlitemprod.pearsoncmg.com/api/v1/print/math

4

SSDO-V{K)
.
)

Lo 21V

24004
X,
\L
S
\\
Y
1200 A
8§
N
N
TS
"‘t;
0 T T 1 ‘ T T
0 1 2 5 B X
Age (years

(%
K f{'\— 0 /ﬂu im‘\/ /r/“"t/{g ]
u’_______h_‘

= 27«% :’(", “x-x) )

[0,4] < e -
"m{/:fe/ i (L‘/ 2 @) —( v) (X~ O)
7 (& = Coy (=)
0 'V‘Nﬂ Y ~2¥yu = L —— = (x)
VY /£
7 2400 ( ) \7'—ZYUU N %%/‘Z
% y——Zv’uu --:-—-6()(_)()()
% j«ZYUu - —GUVoX
D 1200 i | |
jf—Z:;"LJ% Z//Qo — —( 0K Ly 2
9 <z '—-Aé/‘QO)( +2>ﬂdu>
[}O g‘r;( o
Age (years) _— N
600
2
ID: 2.1.51
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21. Factor the given polynomial completely. If the polynomial cannot be factored, say that it is prime. 2 _

X% +5x+6 V4 .

Select the correct choice below and fill in any answer boxes within your choice. X T3 X~ 6

— < K+ K+3) )

LA X +5x+6=
() B. The polynomial is prime. C/,) ‘€C(Q ;-/’ .
(e (K3~
Answer: A. x° +5x+6= (x+2)(x+3) : X LF—('JA __T__ 2 X ’_f C- _
ID: 2.3.1 X Gprrf = G J/
22. Solve the equation. ,/’:; )(:6::_ O O/( e %_; .
x-oRxt9=0 X=G762 0t OR A&+ G5~G= U—9

The solution set is { } (Use a comma to separate answers as needed.)

CTeeSToe 2

Answer: 9

2.4

2

j_
ID: 2.3.3 - ( )

-
23.

Is -6 a zero of the given function f(x) = X2+ 8x+ 127

Select the correct choice below, and if necessary, fill in the answer box to complete your choice.

) A, -8is a zero of the given function f(x) because (- 6) =

(0 B. -6is not a zero of the given function f(x) because f(-6) =

Answer: A. -6 is a zero of the given function f(x) because f(-6) = 0

/5 — 6 Q gf’/u J -/1'\.( 7"/\:‘.&—1 c _(( A\

e )t TX
£(-6) = (—6)5‘ (=) ~)

,[(,,c) (~C)(~¢) —+ Y~ 1
' 36_-—¢Fi ~ ]

20.0f 43, 7/30/2019, 8:09 AM
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24. Find the zeros of the following quadratic func‘tione? fa.ctori['idg.‘ WH:*-xt are the x-intercgpts of the graph of the function?

x)=x% - 15x X' —iryEo
Select the correct choice below and fill in the answer box to complete your choice. t( /\/ — (5 ) —
(Simplify your answer. Use a comma to separate answers as needed.) /(' = ( ) o )(’ [ o
" The zeros and the x-intercepts are different. The zeros are ~-the ¥=intercepts
- O XAs+5 = 0ty

(71 B. The zeros and the x-intercepts are the same. They are

Answer: B. The zeros and the x-intercepts are the same. They are 0,15 [ N

ID: 2.3.13

L p———

H'_ﬁ‘\
25. Find the zeros of the quadratic function l& factonng V\?nal are the x-mtercipts of the graph of the function?
FO)=x2 +x-12 X’ TX=1Z=©

Select the correct choice below and fill in the answer box to complete your choice. 6< -—-—g 2@ '7‘ g\

(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

== o )
() A. The zeros and the x-intercepts are the same. They are A/ : Z, —J U’

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

O B. are : X—3 /__LU—/B,

Answer: A. The zeros and the x-intercepts are the same. They are -4 3 .

ID: 2.3.17

26. Find the zeros of the quadratic function p\y factorlng What are the x-intercepts of the graph of the function?
Xt —x =

Select the correct choice below and fill in the answer box to complete your choice. = _(_, X .) -
(Use a comma to separate answers as needed. Type an integer or a simplified fractmng S =

g(x)=2x -x-1

A

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

. A )( / P
are " L+ { = ) o~

B. The zeros and the x-intercepts are the same. They are

XAV~ QA N~141= 0/

Answer: B. The zeros and the x-intercepts are the same. They are -1

ID: 2.3.19

21 of43 T—— 713072079, 8109 ANM—
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27. Find the zeros of the following quadratic function bQWm are the x-intercepts of the graph of the function? ' ):/'
gx) = X(x + 12) + 32 X ( X//IL/ F 3220
(S;Ir;z‘ctl the correct choice below and fill in the answer box to complete your choice. )( f 7 /{ 3 L/
plify your answer. Use a comma to separate answers as needed.) o
() A. The zeros and the x-intercepts are the same. They are ()( - Lf’) (7< '_f' i ) -0
The zeros and the x-intercepts are different. The zeros are , the x-intercepts

B e : )(’/-f'&(/ =0 o )("f F:O

Answer: A. The zeros and the x-intercepts are the same. They are -4,-8 | d /( f\( — (}/'" f = j

)('f((ﬂ—L/ :u-—‘-/ S R
ID: 2.3.23 —F - J @ )
123, (\:Lea_ﬂ‘{, b, 1

28. Find the zeros of the quadratic function using thé.'sr_aa—’éttemol.methad? What are the x-intercepts of the graph of the
function? L : l
: (9 =6 =0 —> (XD
g = (x=2)" - 16 Viez3? = T
KX-2)¢ = Ve

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

e — —

separate answers as needed.) )//_ Z T e (/
() A. The zeros and the x-intercepts are the same. They are X/ Z, _ C/ an X o é - S/
OB The zeros and the x-intercepts are different. The zeros are , the x-intercepts
" are . P —t+) < ¥
X—2 ¢ < ~F+L 04¢ X=t+7 - L
Answer: A. The zeros and the x-intercepts are the same. They are
( #’\
ID: 2.3.29

R J
29. Find the real zeros, if any, of the quadratic function using lh@»%at are the x-intercepts, if any, of the
raph of the function? — . y A+ T S e ) —
9rep X = /65 . () tV ) =v(t)es) = —r0t 0o — 77
2% . - = - —
f0) = x2+10x+22 . 2 (1) P
Select the obnect chafce helow and if necessary, fill in the answer box to complete your choice. ~ l
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. U g'cornma to

separate answers as needed.) = -y "t m
___\_________’—
O A The zeros and the x-intercepts are different. The zeros are , the x-intercepts 2
" are = =
=. ) /u rT C/'Z;_ (/-
() B. The zeros and the x-intercepts are the same. They are ; 2 N
(_) C. There is no real zero solution and no x-intercept. = _
—/0F 23
2

Answer: B. The zeros and the x-intercepts are the same. They are | -5+ J_ s —=5- ﬁ l

R s

ID: 2.3.39 = —5 Sy

- N—
&>
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30. Find the zeros, if any, of the quadratlc function using tl'@ quadratlc formula G!hat are the x-intercepts, if any, of the graph

orihefuneton? f6) ~6x ! AR -G ) o)1)~ ed/Te =3

f{x)—8x2+1+12x 2/(5) 7 G
A~ b=l . ¢cc!

Select the cal‘rect choice bdfow and, if necessary, fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) P { Z + ﬂ,//T
) A. The zeros and the x-intercepts are the same. They are : == __/-ca

The zeros and the x-intercepts are different. The zeros are , the x-intercepts i o —
OB, P ercepS, o tW /6o 7

are . = /o
() C. There is no real zero solution and no x-intercept. Zz —[7 o+ m (/‘7

= /6
-3+ -3 _ i
Answer: A. The zeros and the x-lntercepts are _the same They are a ; 4 | e f 2 7~ (f ﬁ
g ~ / G
—3-V7 Y = (=D 1)
ID: 2.3.47 T TNe g # =
v_ 7 K< )
— c o — por. -
31. Find the real zeros of the quadratic function using any method you W|sh What are the x-intercepts if any, of the graph of
the function? Y S s o i S
X- é:b/)’_ & C - _(a-/l)-ﬁvf,/() "(/(/C/J(—[,)
G(x)—10x ~11x-6 o 2 (7o)
Selecﬂ-\e corréct c!ﬁ'olce below ahd fgm the answer box to complete your choice. [ { + [/// & ’ __‘_ Zﬁ‘e?
e,

() A. The zeros and the x-intercepts are the same. They are ~ | |~ m

The zeros and the x-intercepts are different. The zeros are . the x-intercepts  » |

B
are . ) [~ p!
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the %rtejsion. Use a comma to

separate answers as needed.)

23 ‘
Answer: A. The zeros and the x-intercepts are the same. They are 52
|
: ~/9
[ 119 | =
ID: 2.3.81 )(i ,/_iﬁ o Zo
IZ-'-_'_)

--‘_H‘“'——__
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32.
a. Graph the following function using transformations.

b. Find the real zeros of the function.

c. Determine the x-intercepts on the graph of the function.

9(x) = (x+5)° -9
a. Graph the function using transformations.

b. What are the zeros of the function?

(Simplify your answer. Use a comma to separate answers
as needed.)

¢. What are the x-intercepts?
(Simplify your answer. Use a comma to separate answers
as needed.)

Answers Ay

212,00 (~tnle-opd

https://xlitemprod.pearsoncmg.com/api/v1/print/math

Ay
104

v

)
e
=
A
iy
.
al
O
O
=

g,0)
){Q-lv\l-f'fcfy)g } 0 2 4 6

10

L.
>

7/30/2019, 8:09 AM



finalm1314COC059sulllljj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

33. Maich the graph with the following function.

f(x) = x? + 12x + 36

Choose the correct graph below.

) A

Answer:

ID: 2.4.15

—
34. Match the function f(x) = x% - 2x + 2 to one of the given graphs.

Choose the correct graph below.

) A,

Answer:

ID: 2.4.17
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35.
Graph the function f(x) = - x> - Bx by starting with the graph 20_‘“‘
ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting). 16+
124
Select all the transformations needed to graph the given !
. B+
function using y = X2, ]
/j—: . e —— 4—:
(¥ A.(Shift the graph to the left 3 units. > ] x
(] B. Shift the graph down 9 units. 20 6 <12 8 4 ] 4 8 12 16 20
grap
[[] €. Compress the graph vertically by a ]
factor of 9. - ; 3_;
Vg Reflect the graph about the x-axis. B>,
[ ] E. Reflect the graph about the y-axis. “i
[ ] F. Shift the graph to the right 3 units. 16
[ ] G. Stretch the graph vertically by a factor of 2]

-3.
?’]/H;('Shift the graph up 9 units. s,

Use the graphing tool to graph the function.

Answers A. Shift the graph to the left 3 units., D. Reflect the graph about the x-axis., H. Shift the graph up 9 units.

 \— / U~ —
/_’_,;_}‘;;’{T:\_T_ = i o %
ID: 2.4.29-Setup & Solve \\
VAR G A D G - — =
kﬂ’/ j22) = z —-'(j ,']

\O-l’wkx z (’ /

/-

26 of 43 7/30/2019, 8:09 AM



finalm1314COC059sulllljj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

36.

27 of 43

For the quadratic function f(x) = — 2x2 +2x - 1, answer parts 'lr}—M
(a) through (c). Verify the results using a graphing utility. :
8

(a) Graph the quadratic function by determining whether its n
graph opens up or down and by finding its vertex, axis of )
symmetry, y-intercept, and x-intercepts, if any. 4{

i 2]
The graph offopens (1) .| ] B
The vertex of f is | b 40 8 6 4 2 172 4 6 8 10
(Type an ordered pair.) ?:
The axis of symmetryis| |, 5¢
(Type an equation. Simplify your answer.) -6
Determine the y-intercept. Select the correct choice below -8
and, if necessary, fill in the answer box to complete your 1
choice. -10-

!
. Za ety —

() A. The y-intercept is . 7x| X (24

(Type an integer or a decimal.) Q== / l_') v (,-’ Cf

() B. There is no y-intercept. Ve 1 (___ {__.: 7/ ( é _\)
X P )

Determine the x-intercept(s). Select the correct choice LA y
below and, if necessary, fill in the answer box to complete ' (.(, ) )
your choice. - /M (Z,_}__ )Z T )
() A. The x-intercept(s) is/are | p )
£ g )
. " _ / 4
(Type an integer or a decimal rounded to E -y | / = !-'/ ’
two decimal places as needed. Use a o /

comma to separate answers as needed.)

o =/ =2(}) /"_.?(’) >
B. There is no x-intercept. < ( —7 (-2 )./”

(2 )
Use the graphing tool to graph the function.

/ . :
A | / ()
(b) Determine the domain and the range of the function. ’2—
/
. . 4 ) 7
The domain of f is L ({/ 5 -2 ( L) &7 ( JZ,) = )
/ _

(Type your answer in interval notation.)

The range of fis | 3 A | - / Y | (_,L "t 7 ( 5 ) — | )
(Type your answer in interval notation.) ¥ ] L
(c) Determine where the function is increasing and where it ; / Z _
( L o = -
is decreasing. 2 ( ) / = l’. & ! 2
The function is increasing on the interval b — 2. - / )
(Type your answer in interval notation.) = ( ,21; 'C( C =
/ - —

The function is decreasing on the interval { ' el — ™

- -~ el ~ /
(Type your answer in interval notation.) - f 'l ,—2.' "("' , <A ; // /

S e e~ e 7/30/2019,8:09 AM
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(1) O up.
) down,

/(x)r:__gx Yo
Answers (1) down.
{l_,l] /[(C,),_(ﬁo) —48() ~f

2' 2

: AH0)==2© )o) ~+ 27—/
e %C/f —2 (O] +2/)—/

A. The y-intercept is | -1 .(Type an integer or a.decimal.)
B. There is no x-intercept. / ( @) = C) ~ 0 \I’
AY -3 <7 p——
10+ //( 0) — /,
] € 4 —————

ID: 2.4.43 - e — /_@
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37.
Determine the quadratic function whose graph is glven The quadratic function which describes the given graph is
below. f(x) = | l, ( ?) -(13) [/(/14
féﬁ' 1< z G )( < ’9) C (Type an expression.)

9 /"

2”’: ‘72 a(;( th) ‘fCAﬂlﬂ-@tf 74
. r o —— —

ro—: (\.«) z 6\()("(’3) “:(_.3! ‘ _‘___;E_f_”____x_h_q‘ Zé)/ ~</)

9 e a (1) =R

— >

Py e | ) i o= < &(""“3)2*/5! Y <l (s f
LN Y e (A=e3) (Lty) =l > —¢ < R(3) —1(3 / gl
\U\’u (_3_1:;1 go Xt (w3 [ e ) (3)) /3 / 4
LG / —¢ = &[G/ ~(3
'/ /

—% T Fa—(%
s T 76“.13413/

T Ta
ID: 2.4.49 4 ., 9k
A e

=i B m-

38. Determine, without graphing, whether the given quadrattc functlon ha@ lue and th
the value. = = N

i Fn‘cw}n =k p!/\ S X«_J W

f(x)= -3x" +30x-1 } '
== 3 ===

Does the qugdraﬁcl%indloa)f haveg minimum value or a maximum value'7 / / - ﬁf))

(") The function f has a maximum value. M J( < (//'/ ¥

() The function f has a minimum value. . 8
=2y / Q:f_)

What is this minimum or maximum value? = .

| | g (.."s ) (=3

E— (32

(Simplify your answer.) = ( =

Answers The function f has a maximum value. ﬁé / )
< ( Ly

74
= /s’/ ~3(s)C F35(s)—1()
D € JR (07/L2 e i A T S et—

/(S\ "'3(2,?)—(’%367 -..,/)
':(5’/ "‘"75 _[“/\7/”"3

C=(s, 79

PHax
29 of4M 713072019 8:09.AM
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39. Use the rational zeros theorem to find all the real zeros of the polynomial function. Use the zeros to factor f over the real
numbers.
f)=x> +3x% - 13x - 15

Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

(:) A. X =
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a comma to separate answers as

() B. _T_::: :r)e no real zeros. ’} L j — =
A e | 43— 10y

Use the real zeros to factor f.

f(x) = |
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.) LZ{ C’(‘ g A
G SS 2
Tt Fei s

Answers A. x= =5, -1,3 | @( 37‘44/\4 Loo )
(Simplify your answer. Type an exact answer, Using radicals asfieeded. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

(x+ 1)(x + 5)(x - 3) T is

ID: 3.2.45

- 3 - N\
S T S
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b
£ 7 |X ¥4 —Gx Loy 1 Vs siha Less

40. Use the rational zeros theorem to find all the real zeros 6fthe polynomial function. Use the zeros to factor f over the real /
numbers. \d 3( 5 1~ -( I\. Q(tug Iy ( ! J ’ cf "-5]5 w—{(; (_’,e:J - { _-t—..{?ﬁ
I ) (B - = ||
=T e

What are the real zeros? Select the correct choice !ow and, if necessary, fill in the answer box to complete your answer.

f(x)= x +4x -9x -16x+20

Zz 5 —_r e 2,10, TS Y
® )/ ¢ I‘r 2 S kR i ol
DA x= —
(Simplify your answer. Type an exact answer, ué g radlgls as ne ded ae teders or =
fractions for any rational numbers in the expresgion. Usa/a comma'to separate answers as
needed.) Tt/ + IV 55 LY f

() B. There are no real zeros.

P I i i
(/( a3 ()(/fg)“ ;

Use the real zeros to factor f. X | = o X-rty= o (/'T s J)‘f !'v) = \; R ‘f’/'i {/'q‘

i — X+~ ig—1 oA )((5—\:1’—5' —_

(Simplify your answer. Type your answer in factored form. Type an exact answer, usmg radlcals as needed. Use integers

or fractions for any rational numbers i theﬂpressla% 0 A (l/

e
___,,_._-—-—

Answers A. x=| -51,2,-2 |
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any

rational numbers in the expression. Use a comma to separate answers as needed.)
A S s
(x+5)(x=1)(x+2)(x—-2)

ID: 3.2.53
e =S _ - — ,_L.K/ —
41. Solve the equation in the real number systeni. % ) 7/ /22 sEe ~76 ¥ (\
LH_ &l =291 /55“ =2 l
Lg 79 Zeym 33 (@ Ve,
Q tare Temal !utlons oﬂhe_equ,atlon? Saleq e correct choice below and fill in any answer boxes in your choice. u
5( 9(‘3

7x* - 120x° + 542x% - 768x + 99 = 0 =

M g \k/Uw?? [f/ - 17 vy 37
R : ~Ly T 3> /kﬁ_ % "
- d Qz? yer P 2
(Simplify your answer. Type an exact answer, usmg radicals as needed. Us@ integers br —— (;O <\
fractions for any numbers in the expression. Use a commajo separate answers as needed. / ﬁ 9 ) | ‘
Type each -answer only once; do not duplica answers in the case of repeated roots.) / '% \\ ’Y// /
(1 B. There are no real solutions. ¢ — 2L 3 = < A K

1 7 ‘—"l)&,?(“"‘* 3\
Answer: A.x=  —,3, 11 7)(,,,,( - O OL )(,.—

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
numbers in the expression. Use a comma to separate answers as needed. Type each answer only once; do not

i duplicate answers in the case of repeated roots.) m 9< ,—} — 3 zJd 7 }

AT e
O1(X=> %

ID: 3.2.67
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42, 6x2
For the function F(x) =

, (@) graph the rational function using transformations, (b) use the final graph to find the

domain and range, and (c) use the final graph to list any vertical, horizontal, or oblique asymptotes.

Lt
(a) Choose the correct graph below.

(b) What is the domain of the given function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice.

(5A. The domain of the given function is {x|x is a real number, x # >, }
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. The domain of the given function is {x|x is a real number, x < }
(Type an integer or a simplified fraction.)

D. The domain of the given function is the set of all real numbers.

C. The domain of the given function is {x]x is a real number, x>
(Type an integer or a simplified fraction.)

What is the range of the given function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice.

A The range of the given function is {y|y is a real number,y< C > M}.
(Type an integer or a simplified fraction.)

B. The range of the given function is {yly is a real number,y#
(Type an integer or a simplified fraction. Use a comma to separate answers as needed )

C. The range of the given function is {y|y is a real number, y > }
(Type an integer or a simplified fraction.)

D. The range of the given function is the set of all real numbers.

(c) What is/are the vertical asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to

let hoice. : e
complete your choice Vfl( g 457“__/ /:/'( =

8K There is one vertical asymptote. It is /t/ < . o e ( o~
(Type an equation. Use integers or fractions for any numbers in the equation.) *@/
B. The left vertical asymptote is . The right vertical asymptote is f L ,-—
- WA
(Type equations. Use integers or fractions for any numbers in the equations.) 4’: -""fﬁ_—‘ K
C. There is no vertical asymptote. j ( /( 0 .-}

o

What is/are the horizontal asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to
complete your choice. ( )-"( Q hdfllu 2 ,Ct 5 /L//
B < - }
A. There is one horizontal asymptote. It is ) '*/1
(Type an equation. Use integers or fractions for any numbers in the equation.)

R Tha thn harisantal acimantata is Tho hatarm harizantal acumntata ie
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(Type equations. Use integers or fractions for any numbers in the equations.)
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What is/are the obliqgue asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

A.

The oblique asymptote with the positive slope is and the oblique asymptote

with the negative slope is .
(Type equations. Use integers or fractions for any numbers in the equations.)

B. There is one oblique asymptote. It is .
(Type an equation. Use integers or fractions for any numbers in the equation.)
C. There is no oblique asymptote.
-2
Answers D.
A. The domain of the given function is {xlx is a real number, x # 0
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
A. The range of the given function is {y|y is a real number, y <| 6 -
(Type an integer or a simplified fraction.)
A. There is one vertical asymptote. It is x=0
(Type an equation. Use integers or fractions for any numbers in the equation.)
A. There is one horizontal asymptote. It is y=6 |
(Type an equation. Use integers or fractions for any numbers in the equation.)
C. There is no oblique asymptote.
ID: 3.4.43
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43. Find the vertical, horizontal, and oblique asymptotes, if any, for the following rational function.

RO =3320

Select the correct choice below and fill in any answer boxes within your choice.

P . g e
- . o'
A. The vertical asymptote(s) is/are x = ’ ﬁ) ( } — _f._’_
(Use a comma to separate answers as needed.) ;/ i /K’f 25
B. There is no vertical asymptote. .
-~ ——
Select the correct choice below and fill in any answer boxes within your choice. T

(0 A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)
B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)
B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -20 .(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 9 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

AF2v=o

ID: 3.4.45 . . :
K¢ agilk=f_¢f———ﬁmﬁnmhh e
(//7: [ { LA CL/**)/[;?}\:&, ji_)_(c C? L
. 7,-_#*7—_;. — ~—~—j/:, X
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44. Find the vertical, horizontal, and obl:que asymptotes, if any, forthe given rational function.
o(x)———s"z“z""". = (57/‘““ 3/“:‘* fj - SX+73
=— i =i il
3x"=2x-1 ol
- Gx—+ V(K5) X

Select the correct choice below and fill in any answér boxes within your choice. L/
/r}::-"-{ £3 fn G S5 L¢
A. The vertical asymptote(s) is/are x = & / }v/ o

(Use a comma to separate answers as needed. Use integers or fractions for any numbers in |

the expression.) A )_ /\/_(_ / =

() B. There is no vertical asymptote. .
2y~ / e O

Select the correct choice below and fill in any answer boxes wnthm your choice.

3X€~/

() A. The horizontal asymptote(s) is/fare y = .
(Use a comma to separate answers as needed. Use integers or fractlons for any numbers in

the expression.) :. 2, A - —f ' /
—— Pt N
() B. There is no horizontal asymptote: ? - -5 =~
/'l‘ (L ( (’”> 7y r tli ?(/'1 “’f/ /-,f://,,
Select the correct choice below and fill ifi any answer boxés within your choice. / L

) A. The oblique asymptote(s) is/are y = .
(Use a comma to separate answers as needed. Use integers or fractions for any numbers in

the expression.) p (. ) f ’/
() B. There is no oblique asymptote. V4304 (,ﬁ \j'a"/"" /.7 o isk (
j )( o \
1 < ),
Answers A. The vertical asymptote(s) is/are x = -3 I - ,( et y
4

(Use a comma to separate answers as needed. Use integers or fractlons for any numbers | IE }h(gxﬁressmn )

P (
A. The horizontal asymptote(s) is/are y = ( 9 “ /_ /é_
(Use a comma to separate answers as nee’_dd. Use integers.or - fractions for a any numbers in the exp}pssmn )

B. There is no oblique asymptote. & %g s [,}-U e 1 a S ‘7 /‘V‘/ 7

ID: 3.4.51 : .
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i
|

45, For f(x) = 9x + 9 and g(x) = 7x, find the following composite functlons and state the dpmam of each.
F
(a) fog (b) gof (c) fof (d) gog Lj)gy ;g ng))
s /"( )

Ut
Select the correct choice below and fill in any answer boxes within your chojee;. fé’ 3t g j

(@) (Fog)(x) = (Simplify your answer.)

A. The domain offogis {x | }.
(Type an inequality. Use mtegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of fo g is all real numbers. {")f’! {/ )(f‘/ - y / ;/(/ ) )

i, - -
(b) (@of)(x) =| (Simplify your answer.) = ( G Xt )
= 7(axti)

Select the correct choice below and fill in any answer boxes within your chosce —7 _
G)x~r63 “>

A. Thedomainofgofis{x| 1}
(Type an inequality. Use mtegers or fractions for any numbers in the expresmon Use a

comma to separate answers as needed.) / ( J
() B. The domain of g o fis all real numbers. ( © .f' A 7t _
(©) (foN(x) =| (Simplify your answer.) = / (q X9 )

= G ()t T

Select the correct choice below and fill in any answer boxes within your ch0|ce
/ I / 7+,

O A Thedomainoffofis{x| 3. < - l“ \'5.
(Type an inequality. Use integers or fractions for any numbers in the ex esslcn—Use a
comma to separate answers as needed.)

B. The domain of f o fis all real numbers. (j{}j )’)(/ T j / j (70}

(d) (@og)(x) = (Simplify your answer.) — j (‘75[)
Select the correct choice below and fill in any answer boxes within your choice. 7 ( 7
- x)

A. The domain ofgogis {x | } AT
(Type an inequality. Use integers or fractions for any numbers in the expression. Usea——
comma to separate answers as needed.)

B. The domain of g o g is all real numbers.

Answers 63x + 9
B. The domain of f o g is all real numbers.
63x +63
B. The domain of g o f is all real numbers.
81x+90
B. The domain of f o f is all real numbers.
49x

B. The domain of g o g is all real numbers.

ID: 4.1.23
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46.

The function f(x) =2x - 1 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of fand f 1 16
(c) Graph f, f~ b , and y = x on the same coordinate axes. 12.’

-1 B
@f (o= ]
(Simplify your answer. Use integers or fractions for any 4-
numbers in the expression.) x

LA o i s T JE0 o o g o T e e i o e

) i ) 20 46 2 B8 4 4 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below &
and, if necessary, fill in the answer box to complete your 1
choice. -84
~ 124
) A. The domain is {x|x< 3 ]
) B. The domain is {x]x= =} _1'};
(2 €. The domain is {xlx# } e .

=
() D. The domain is the set of all real - o
numbers. rr#fv'\’f/ LA /
Find the range of f. Select the correct choice below and, if  / e o x \
necessary, fill in the answer box to complete your choice. | 7 = ( J( — ( SM‘ v '\
LY # |

() A. The range is {y|y2 } )( . 2,7 — ( Inv '
() B. The range is {y|ys } _ SQ\W( J 7

) C. Therangeis {ylya;LL - } )( ._( ‘ = 2,7 —~ ( ~+ /

() D. The range is the set of all real numbers.

- ~
Find the domain of f 1. Select the correct choice below )( —f , L7
and, if necessary, fill in the answer box to complete your
choice. )(—( [ . (2 7
~_ T T
(' A The domain is {x|x2 } L
() B. Thedomainis {x|x#  }. X( r
e o s =
" €. The domain is {xlxs B B } /’Z‘ |
{ ) D. The domain is the set of all real T )(" (__"“‘\ i /
numbers. =3 —+ 3
//C/ el — ./I
. " . Y L@ garst
Find the range of f . Select the correct choice below and, Q =" ///\ v
if necessary, fill in the answer box to complete your choice. e e -~ \ﬂ‘_f {1
- ) Ji

A. Therange is {y]y# }

B. Therangeis {yly < }

C. Therangeis {y|y2 }
i) D. The range is the set of all real numbers. _
(c) Graph f, f~ ! , and y = x on the same coordinate axes. //
Use the graphing tool to graph the functions. e
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x+1
2

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.

D. The domain is the set of all real numbers.

D. The range is the set of all real numbers,”, ,/'L'_L

ID: 4.2.53
.,.-—r_'T:_ — . __ = —
47. Solve the equation.

647X *39 < 128

The solution set is 4 P
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

Answer: 18

ID: 4.3.73

,[wfrwﬁ 8
domen
Y= Aol Axters)\,
Aak AXAB >SS

48. Find the domain of the function.ﬂ,{_ X - ’B > )
gx) = In (x-3) )<,3~f37()—+3

The domain of g is [-
(Type your answer in interval notation.)

Answer: (3,00) l \

ID: 4.4.39 | o
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49. Solve the equation. Z i [Z )( ) / .
YA ~y /) = 3
log,(2x+3)=3 7 & =5

\\ — i
,}

| 2 . Z/)("f J

(Type an equation. Do not simplify.)

Change the given logarithmic equation to exponential form.

- - (X~ 3
The solution set is Kf i Z
(Simplify your answer. Use a comma to separate answers as needed.) Z/ )(.f

Answers oy 4 3 =23 5”'; = Z)(’"{//

5 = (X

2 - LK
. - Z=
2 ra
ID: 4.4.91-Setup & Solve
. - . > ¥
50. Write the expression as a sum and/or difference of logarithms. Express powers as factors. Y )/ U((_

log » [Xxi‘:] x> 4 (i/_:;,]_ _(’5%) :—C(_/)éi/f/#((?zf/j/ﬁ
(log, (1) = 4 by, ()2

10
X .
log 5 {x—4] = | (Simplify your ar;s(mﬁ;.)
ZU & ( = ) =
s -
Answer: 10log ;x - log ;(x - 4) X4

S (x'?) — Cus , ()=

_ _ID:4.5.49 ——‘C;::__i)éuj (,4)——— L")z (;("'L/)“ ul____

51. Solve the following logarithmic equation. Z
&) ) ) B >(
.\__’/7
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. l
L= X
) A, The solution set is .
(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needet.i) . (// - 3,)<

) B. There is no solution.
¥ - <
a ] 5 s

Answer: A. The solution set is g I

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

log ,(5x)=2
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52. Solve the logarithmic equation. / 09 )(“fV ) = [Qj ? // ))

log 3(x+4)=log 313 _
)(—-f t/ < /3
Determine the equation to be solved after removing the logarithm.

| Xty —¢ = (3—“/

(Type an equation. Do not simplify.)
A = C? >
Select the correct choice below and, if necessary, fill in the answer box to complete your choice, . — 4(/(<’
\—K

) A The solution set is { }- [(r;? ( h'/({) / )(/3}

(Simplify your answer. Type an exact answer. Use a comma to sepa answers as

needed.)

(1 B. There is no solution. (/(J> ] { , ’}) A (Us)) // 3 /

Answers x+4=13 QC)\) 4

A. The solution set is { 9 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

“”””‘”’C’/D
ID: 4.6.9-Setup & Solve =

53. Solve the logarithmic equation.

— Lo )Gf 55)

Determine the equation to be solved after removing the logarithm.
Lo bG35 =
[o

(Type an equation. Do not simplify.) _ =

log x+ log (x+99)=2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

¢z 4
() A The solution setis { } 3 /d = )((X’7/ 7 {/

(Simplify your answer. Type an exact answer. Use a comma to sgpara!e answers as

needed.) /OU' = )( 5 ?

() B. There is no solution. )
Oz x Ut 59— 0o

2 . .
Answers x(x+99)=10 = ] vy
0z K —f) K9
A. The solution set is '{ 1 }v

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

(=(=0 oL X7TIN=0

ID: 4.6.17-Setup & Solve ' —(_¢ ot/ 0/( )(//uu'—/uu “U ~f 47

bo 5+ &,)- (x~+45) :::4':_\

Loy (1) Cos (I+51) =2
Qo " Gwy [ P,
. —/x__k zZ

(/O)/#w)'f Lo (w755 < B

400fl5 (/Uj/-/uu) —tl'éu/ (/Z/ 7/30/2019, 8:09 AM
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AP £)6 P

) g 07

54, Fmd the amount that results from the given investment.

k/m[}invested at i& compounded Qﬁrt/m'l_;’aﬂer a period ot ﬁrs‘w Z g L’ [ a1 00 / A= @Qude
After 4 years, the investment results in $ £ ( w07 4 (7 <
(Round to the nearest cent as needed.) A Z(N /”f /L() (/ (’/ (/

CAZLG63.975THT N S
rg‘ T Celaly
ID: 4.7.7 K/jl .6 57 /j’) %U(,A

Answer: 263.99

T ———— ——— == —
55. How many years will it take for an |n|t|al mf?stment of $30,000 to grow to $75, 000’7 Assu rate of interest of 4%
compounded continuously. Al I/ s - 75 Yoo = ZLUudC /2“ ) a 0(/{ //)
It will take about years for the’;westme(nt to grgw to $75, 00& UVf/_x //L (ZG 5 ) =, 0¥ 14
(Round to two decimal places as needed.) SO Sugoe S
Fuoss © Toeos / ALl ) Lokl
Answer: 22.91 2. 5 = C) U7 £ ) ¢ d (/ . d i
2 e AT =
5 ] ’?\,(255)1 6(;14 Ve e
14.7.4 R —— ; - 4
- L(2.8)= 08 @) ZLGj=¢€ > ﬂw—»(
56. Solve the system of equations. If the sy m has no solution, say that it is inconsistent. Sabs )( (
F = M’Tab [YX=1 ¢ g = L
4x -2y=2 Yx—219 = ] JYA < 1<, Ll ~=%
5x +y =6 7 K 4 (rij ® e
y %ﬁ*q }1*‘[1 : #({/,: -t/
Select the correct choice below and, if necesss‘ry, fill'in any answar/hal;e wnh{ Lrl‘/g ce. . 2 / z =7
(_) A. The solution of the system is x = andy= i — /~:;J _ 1
— -

(Type an integers or simplified fractions.)
) B. There are infinitely many solutions. Using ordered pairs, the solution can be written as

{xy)x= ,yanyreal number}
(Simplify your answer. Type an expression using y as the variable as needed.)

(1 €. The system is inconsistent.

Answer: A. The solution of the system is x = ' 1 andy=
(Type an integers or simplified fractions.)

ID: 6.1.33

41 of 43 7/30/2019, 8:09 AM



finalm1314COC059sulllljj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

57. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

x=-3y+4z= 5
2x+ y+ z= -4

-2x+3y—-3z= -2

Select the correct choice below and fill in any answer boxes within your choice.

A. The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)

B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= y= __, zany real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x,y,z) I X= , Y any real number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

D. The system is inconsistent.

Answer: A,
The solution is x = -2 Y= -1 ,andz= 1 . (Type integers or simplified
fractions.) -
6145 <A1 "’“--"""’%/ A vt 4 G (4N F )
L - . — —aia— . “\
( ¢ Rse Jrea }fl N
/ / — 7 5 ( ( /
£ = : 4 — (-/ C (VIR -3/ il
,'/-/ Z f’ ( / C B ,.-f"d'
— ¢ L =3 %
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58. Write down the first five terms of the sequence.

)

Type the first five terms of the sequence {an} = {nTns} Assume nz1. 7‘“\
' f = L ]
a,=[ . (Simplify your answer.) a‘l < 6 7/_,/ | ’ v
a, =] | (Simplify your answer.) ( _d___ ,{/ < fz(_[/_ i E
{7 o Z’F(’ ¥ ; .
az =, | (Simplify your answer.) t' ( 1
iy
~
as=| | (Simplify your answer.) ( - =
| _;( 3 — .—5 _?’__ 6
ag= ' | (Simplify your answer.) ¢
1 / )
T Gy = L
Answers 1 Y76
7
1 ' -l
4 (’t 5 - w’_":g —
1 5
3
L
5
=L
1
ID: 7.1.17
e = —— __-l i & 3+ i - i e——— — o
(/f_j(? S et Ca i -

59. Expand the expression using the Binomial Theorem,

¢, Wk, Krg HEr ol o < |
(./ /41 Q,Lﬁ}/ /’)’i/j/)‘}(/’/ ‘€:.~\l(,, ( = ". 1

Bp+ 2)4 = ' | (Sime:,i‘fy your answer.)

X’z-?’m '//‘1 /f% I/}( */ "fsl.—| l 'y 2 u} @
Answer: g1p% + 216p> + 216p> + 96p + 16 y V% ’ nale 3 = M
p p~ +216p 4] L{;.-,,.,J{A V4 //7(// Fen 3 <
; S bracku, PR e S -

i T »— =

DN e © () A SO0 C0) -
T, Yy P b l)((()——f (q/(S/)(f)—rﬂ)(‘,)(ﬂ,)r
DN+ )61 (37 () (P (5T

(1)( ;/(/‘f)( /),f//(,/(ww O+€) (@] /{@Q/Y £+ (N /)(/4 )=

@p+2)*
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